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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team

this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coachﬂesﬂcan create if every high school student and every middle school
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student must be in a group?

Here are the students’ answers to the problem:

Student 1:

i"fﬁé-é?é"éi{eét number of groups the coaches can make is 53. y

e g i

Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:

The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use

representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the

greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:

Student 1:
The greatest number of groups the coaches can make is 53.

ST Student 2:

s ~— e

] - ——— g
o

2 4

3y
khe greatest number of groups the coaches can make is 14}2
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- Student 3:

The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:

The greatest number of groups the coaches can make is 14.

Student 3:
The greatest number of groups the coaches can make is 84. ] “;_;'-

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.

Student 2:

The greatest number of groups the coaches can nir’lake is 14.

e

Student 3: A ™
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the

greatest number of groups the coaches can create if every high school student and every middle school
* student must be in a group?

Here are the students’ answers to the problem:

Student 1: / \\

The greatest number of groups the coaches can make is 53.

Stude@ / A»
The greatest number of groups the coaches can make is 14. (‘1

Student 3: = 2 ‘k

The greatest number of groups the coaches can make is 84. /

Circle what student you agree with and explain why you agree with them using words. You may use g—l
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:

Student 1:
The greatest number of groups the coaches can make is 53.

Student 2:

o s

The greatest number of groups the coaches can make fﬁlrl 3 ")-

Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the

greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?
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The greatest number of groups the coaches can make is 53. *
Student 2:

The greatest number of groups the coaches can make is 14.
Student 3:

The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team

this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school

student must be in a group? L\}a\zoz)( «5)(7
/

Here are the students’ answers to the problem:

Student 2:

ax7 The greatest number of groups the coaches can make is 14.
l <\ Student 3:

The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.

Student 2:

J— -
/ The greatest number of groups the coaches can ma®
I PP
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Student 3:

The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:

The greatest number of groups the coaches can make is 53.
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Student 3:

The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the

greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:

The greatest number of groups the coaches can make is 53.
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The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the

greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student(gg;)
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.

@ sentence startD
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.

@blesentence staD

I believe that student is correct because
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the

greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.

@blesentence staD

| believe that student is correct because




Exit Slip: GCF and LCM

Name:

1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53.
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.

@entence startD

| believe that student is correct because
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1. Three students were given the following problem:

There are 28 middle school students and 42 high school students that are trying out for the track team
this year. The coaches want to create groups of middle and high school students. Each group must have
the same number of middle school students and the same number of high school students. What is the
greatest number of groups the coaches can create if every high school student and every middle school
student must be in a group?

Here are the students’ answers to the problem:
Student 1:
The greatest number of groups the coaches can make is 53,
Student 2:
The greatest number of groups the coaches can make is 14.
Student 3:
The greatest number of groups the coaches can make is 84.

Circle what student you agree with and explain why you agree with them using words. You may use
representations such as a factor tree to help explain why.

| believe that student is correct because




